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ESERCIZIO #1
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W (s) = 1

s+1
U (s) = 1

s

   

y(0) = lim
s→∞

sY (s) = 0

!y(0) = lim
s→∞

s sY (s)− y(0)⎡⎣ ⎤⎦ = 1

!!y(0) = lim
s→∞

s s sY (s)− y(0)( )− !y(0)⎡⎣ ⎤⎦ < 0
  

y∞(t) =1
Ta1 = 4.6

Nosc =
Ta1

Tosc
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ESERCIZIO #2
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W (s) = 1
s+1

U (s) = 1
s2

   

y(0) = 0
!y(0) = 0
!!y(0) > 0

   

y∞ (t) = t −1
Ta1 = 4.6
Nosc =!
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ESERCIZIO #3
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W (s) = 1

s2 + .4s+1
U (s) = 1

s
   

y(0) = 0 !!y(0) >1 Ta1 = 23

!y(0) = 0 y∞(t) =1 Nosc = 3.58
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NOSC = Ta1
TOSC

y(t) = U0μ (1 − 1
1 − ζ2

e−ζωntsin (ωnt 1 − ζ2 + cos−1ζ)) 1(t)

ωOSC = ωn ⋅ 1 − ζ2



ESERCIZIO #4
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W (s) = 1

s2 + .4s+1
,U (s) = 1

s2

   

y(0) = 0 !!y(0) = 0 Ta1 = 23

!y(0) = 0 y∞(t) = t −0.4 Nosc = 3.58
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ESERCIZIO #5

8

  
W (s) = s

s2 + s+1
,U (s) = 1

s
   

y(0) = 0 !!y(0) < 0 Ta1 = 9.2

!y(0) =1 y∞(t) = 0 Nosc =1.26
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ESEMPIO #6

9

  
W (s) =

s+1( ) s−1( )
s2 + .4s+1

   

y(0) = 1
!y(0) = −0.4
!!y(0) < 0

  

y∞(t) = −1
Ta1 = 23
Nosc = 3.58

  
U (s) = 1
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